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01 Az 1,000 1,000 0
O B92AAE 54 5,0009 = 2% = 100ha = 1,000
301 LRkEAE 9,453 9,953 A500
10 PALAH B A= 9,453 9,953 A500
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O A5 94 SHYAL 734 F4 5,0009) * 1507 * 23] = 1,500
O F2¢ Axd Wgojn wa 49,9009 * 5078 = 2,495
401 Aldn) g F iy 100,970 46,980 53,990
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2,500,054 2,124,399 375,655
[ 1,510,524]
7714
= 292,927]
[A] 696,603]
41,500 0 41,500
201 Yuke-gH]
[= 31,150]




2499 U B3
U= IR

BA A - R (FA) - AR - AT e 33a ) 257
[ 4,062]
201 Luke-g ] " 6 258]
01 A& H] 37,500 0 37,500
[5 110 Z=AE]Y ] 0
6. 9 2 = 37,500
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A1 Ak 500,000 = 470H « 1Y * 23] = 4,000
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O 2¥sdA 3,000,000¢ * 3] = 9,000
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301 LWrE A 31,000 26,200 4,800
10 AR RAF 26,000 24,000 2,000
O AFEed 9 AR A s 1 52 5,000 * 1007 = 83 4,000
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